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1. W7 378

Who might Catherine be?

A. Lisa's aunt. B. Lisa's niece. C. Lisa's cousin.

2. Wt 71/
What are the speakers doing?

A. Enjoying a song. B. Listening to a story. C. Seeing a movie,

3. W /1
How much will the man pay?

A. $430. B. $495. C. $395.

4. W7 J178
Where probably are the speakers?

A. On a bus. B. Inacar. C. On the Subway.

5. Wr J1
What is the girl likely to do next?
A. Learn to ride a bike. B, Sighup for driving lessons. C. Hand in an application.

W T SBOW 1l B B o B BOHE B AR AL NE, WEH TSR Ay B. CEMNET %
HRAERI . GRS AR50 #4522.553)
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(6) What will the’'man do this-wegkend?

A. Have an(interview in Huawei, B. Attend a meeting. C. Go camping.
(7yWhat can we learn about.5G?
A. 5G)phones have been on the market. B. A video can be downloaded in several minutes.

€. The network construction will be completed by 2021.

7. Wy 178
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(8) How old is Alex?

A. 8 years old. B. 18 years old. C. 26 years old.
(9) What do we know about Chen Gao?
A. He solved a puzzling math problem at 26. B. He works in Hefei as a physicist. C.Heisa

college student majoring in maths.

(10) What does the woman imply at the end of the conversation?

A. The man should be realistic. B. The man will be as successful as Chen Gao. C. The man
should follow the example of Chen Gao.



